

RENDICONTI *del* SEMINARIO MATEMATICO *della* UNIVERSITÀ DI PADOVA

STEWART E. STONEHEWER

Subnormal composition factors of infinite groups

Rendiconti del Seminario Matematico della Università di Padova,
tome 63 (1980), p. 285-294

[<http://www.numdam.org/item?id=RSMUP_1980__63__285_0>](http://www.numdam.org/item?id=RSMUP_1980__63__285_0)

© Rendiconti del Seminario Matematico della Università di Padova, 1980, tous droits réservés.

L'accès aux archives de la revue « Rendiconti del Seminario Matematico della Università di Padova » (<http://rendiconti.math.unipd.it/>) implique l'accord avec les conditions générales d'utilisation (<http://www.numdam.org/conditions>). Toute utilisation commerciale ou impression systématique est constitutive d'une infraction pénale. Toute copie ou impression de ce fichier doit contenir la présente mention de copyright.

NUMDAM

*Article numérisé dans le cadre du programme
Numérisation de documents anciens mathématiques*
<http://www.numdam.org/>

Subnormal Composition Factors of Infinite Groups.

STEWART E. STONEHEWER (*)

The theory of composition factors of finite groups (or more generally of groups with a composition series) has its origin in the work of Jordan and Hölder and has been developed significantly by Wielandt. (We assume throughout that all composition series have *finite* length.) The main aim of the present work is to show that one of Wielandt's major theorems for groups with a composition series ((3) below) holds quite generally for arbitrary groups.

1. Notation and statement of results.

Let X be a subnormal subgroup of an arbitrary group G . Thus there is a series of finite length from X to G :

$$X = X_0 \triangleleft X_1 \triangleleft \dots \triangleleft X_n = G.$$

If $Y \triangleleft X$ and X/Y is a simple group, then we call X/Y a *subnormal composition factor* of G . Denote by $\Sigma(G)$ the set (without multiplicities) of all abstract simple groups which occur as subnormal composition factors of G . (In passing, we mention that it appears to be unknown whether $G \neq 1$ always implies $\Sigma(G) \neq \emptyset$.) It is well-known that if G has a composition series, then G has only finitely many sub-

(*) Indirizzo dell'A.: Mathematics Institute, University of Warwick, Coventry, England.

The author acknowledges support from C.N.R. and kind hospitality at the University of Trento while this work was prepared.

normal subgroups ([4], p. 219). In this case the join J of any (necessarily finite) collection of subnormal subgroups H_λ ($\lambda \in A$) of G is also subnormal in G ([4], Satz 7). It follows that J has a composition series and it is an easy exercise (using the Jordan-Hölder theorem and induction on composition length) to show that

$$(1) \quad \Sigma(J) = \bigcup_{\lambda} \Sigma(H_{\lambda}).$$

The generalisation of (1) to arbitrary groups is also well-known:

If G is generated by subnormal subgroups H_λ ($\lambda \in A$), then

$$(2) \quad \Sigma(G) = \bigcup_{\lambda} \Sigma(H_{\lambda}).$$

For a proof one can use a transfinite version of the proof of (1). Thus a class $\mathfrak{X}$ of groups closed with respect to forming normal products is also closed under taking subnormal joins ([7], Theorem 28, p. 246). Then let $\mathfrak{X}$ be the class of groups all of whose subnormal composition factors belong to $\bigcup_{\lambda} \Sigma(H_{\lambda})$. Since two ascending series of subnormal subgroups have isomorphic refinements, (2) follows without difficulty.

If H is a subgroup of a group G , we denote by $\Sigma(G:H)$ the set (again without multiplicities) of all abstract simple groups which are isomorphic to some X/Y where X is subnormal in G and

$$H \leq Y \triangleleft X \leq G.$$

Then we shall obtain (in Theorem A) a much sharper result than (2), motivated by the following theorem of Wielandt's ([4], Sätze 6 and 9):

If G has a composition series and H, K are subnormal subgroups of G , then

$$(3) \quad \Sigma(H:H \cap K) = \Sigma(\langle H, K \rangle : K).$$

Indeed we shall show that the hypothesis that G has a composition series is redundant. The inclusion $\subseteq$ in (3) is quite straightforward and was generalized in another theorem of Wielandt's ([6], 8.5):

Let $H_1, H_2, \dots, H_n$ be finitely many subnormal subgroups of an

arbitrary group G . Then for each i

$$(4) \quad \Sigma(H_i; D) \subseteq \bigcup_{j \neq i} \Sigma(G; H_j),$$

where $D = H_1 \cap \dots \cap H_n$.

As an obvious corollary we have

$$(5) \quad \Sigma(G; D) = \bigcup_{i=1}^n \Sigma(G; H_i).$$

Wielandt pointed out that (4) does not extend to infinitely many subnormal subgroups. For example, let $G = \langle g \rangle$ be an infinite cyclic group and let $H_n = \langle g^{2^n} \rangle$, for all $n \geq 1$. Then $D = \bigcap_{n \geq 1} H_n = 1$ and (4) clearly fails.

In order to obtain the relation $\supseteq$ in (3) Wielandt needed a more complicated argument. For ease of comparison with our methods in section 2, we recall the details briefly. Thus suppose that G has a composition series and that H, K are subnormal subgroups of G . Since $\langle H, K \rangle$ is subnormal in G , we may assume that $G = \langle H, K \rangle$. We proceed by induction on the composition length l from H to G to show that

$$(6) \quad \Sigma(H; H \cap K) \supseteq \Sigma(G; K).$$

We may assume that $l \geq 1$. Choose a maximal normal subgroup G_1 of G containing H and put $G_1 \cap K = K_1$.

Case (i). Suppose $K_1 = H \cap K$. Then $H \cap K \triangleleft K$. If $H \triangleleft HK$, (6) follows without difficulty. Therefore suppose that $H^K \neq H$. Then there is an element k in K such that

$$L = \langle H, H^k \rangle > H.$$

We note that $L \leq G_1$ and L is subnormal in G . Now $G = \langle L, K \rangle$ and so, by induction on l ,

$$\Sigma(G; K) \subseteq \Sigma(L; H \cap K) = \Sigma(L; H) \cup \Sigma(H; H \cap K).$$

Again by induction, $\Sigma(L; H) \subseteq \Sigma(H^k; H \cap K) = \Sigma(H; H \cap K)$ and therefore we have (6).

Case (ii). Suppose that $K_1 > H \cap K$. Then $M = \langle H, K_1 \rangle > H$, $M \leq G_1$ and M is subnormal in G . Now $G = \langle M, K \rangle$ and so induction gives

$$\Sigma(G:K) \subseteq \Sigma(M:M \cap K).$$

Also $\Sigma(M:M \cap K) \subseteq \Sigma(M:K_1) \subseteq \Sigma(H:H \cap K)$, by induction applied to $M = \langle H, K_1 \rangle$. Then again we have (6).

It is difficult to see how the above argument can be made to apply to arbitrary groups, first because composition lengths do not exist in general (and cannot be replaced in any obvious way by subnormal defects) and secondly because a join of subnormal subgroups is not always subnormal ([7], p. 235, exercise 23; [1], Theorems 6.1 and 6.2; [3], Theorem E). Nevertheless we shall prove

THEOREM A. *Let G be generated by a (possibly infinite) set of subnormal subgroups H_λ ($\lambda \in \Lambda$). Then, for each λ ,*

$$\Sigma(G:H_\lambda) \subseteq \bigcup_{\mu \neq \lambda} \Sigma(H_\mu:H_\lambda \cap H_\mu).$$

In conjunction with (4) this gives

THEOREM B. *If G is generated by finitely many subnormal subgroups H_λ ($\lambda \in \Lambda$), then*

$$\bigcup_{\lambda} \Sigma(G:H_\lambda) = \bigcup_{\lambda} \Sigma(H_\lambda:D),$$

where $D = \bigcap_{\lambda} H_\lambda$.

The special case of Theorem B when $|\Lambda| = 2$ shows that (3) holds in arbitrary groups, i.e.

if H, K are subnormal subgroups of any group, then

$$\Sigma(H:H \cap K) = \Sigma(\langle H, K \rangle:K).$$

We also obtain (2) as a corollary of Theorem A. For, if G is generated by subnormal subgroups H_λ ($\lambda \in \Lambda$), then for any $\mu \in \Lambda$,

$$\Sigma(G) = \Sigma(H_\mu) \cup \Sigma(G:H_\mu) \subseteq \bigcup_{\lambda} \Sigma(H_\lambda).$$

The reverse inclusion is trivial.

2. Proof of Theorem A.

We shall need some well-known results. First (see [1], Corollary 2.4)

LEMMA 1. *Let H, K be subnormal subgroups of G . If $\langle H, K \rangle = HK$ (i.e. $HK = KH$), then HK is subnormal in G .*

A special case of Theorem A of [3] says that if H, K are subnormal subgroups of a group G , then every finitely generated subgroup F of $J = \langle H, K \rangle$ is contained in some subnormal subgroup L of G with $F \leq L \leq J$. A simple induction argument then yields

THEOREM 1. *Let $H_1, H_2, \dots, H_n$ be finitely many subnormal subgroups of a group G . Then every finitely generated subgroup F of $J = \langle H_1, H_2, \dots, H_n \rangle$ lies in some subnormal subgroup L of G with $F \leq L \leq J$.*

If H and K are arbitrary subgroups of any group, then, according to [3], the *permutizer* $P_K(H)$ of H in K is defined to be the unique largest subgroup of K whose product with H is a subgroup. The following result is proved in [3], Lemma 3:

LEMMA 2. *If H and K are subnormal subgroups of G , then $P_K(H)$ is also subnormal in G .*

Also concerning the permutizer we shall need

LEMMA 3 ([2], Corollary B1). *If H and K are subnormal subgroups of a group, then there is an integer d (≥ 0) such that $P_K(H)$ contains the d -th term $K^{(d)}$ of the derived series of K .*

Finally, from the same paper of Roseblade's we require part of the main Theorem, viz.

THEOREM 2. *If G is a group generated by subnormal subgroups $H_1, H_2, \dots, H_n$ and if $d_1, d_2, \dots, d_n$ are integers (≥ 0), then there is an integer $d \geq 0$ such that*

$$G^{(d)} \leq H_1^{(d_1)} H_2^{(d_2)} \dots H_n^{(d_n)}.$$

PROOF OF THEOREM A. We have a group G generated by subnormal subgroups H_λ ($\lambda \in \Lambda$). Let X/Y be a subnormal composition

factor of G with

$$H_\lambda \leq Y \triangleleft X \leq G,$$

for some λ . We have to prove that $X/Y \in \Sigma(H_\mu: H_\lambda \cap H_\mu)$, for some $\mu \neq \lambda$. First we show that

(7) *we may assume that Λ is a finite set.*

Thus choose an element x from $X \setminus Y$. Then there are elements $\lambda_1, \lambda_2, \dots, \lambda_n$ in Λ such that

$$x \in \langle H_{\lambda_1}, H_{\lambda_2}, \dots, H_{\lambda_n} \rangle = J,$$

say, and we may suppose that $H_{\lambda_1} = H_\lambda$. To simplify notation put $H_i = H_{\lambda_i}$, $i = 1, 2, \dots, n$. Now, by Theorem 1, there is a subnormal subgroup L of G such that

$$x \in L \leq J.$$

Then $X \cap L$ is subnormal in G and so Lemma 1 implies that $(X \cap L)Y$ is also subnormal in G . Since $x \in X \cap L$ and $x \notin Y$, we must have $(X \cap L)Y = X$. Hence

$$(X \cap J)Y = X$$

and therefore $X/Y \cong (X \cap J)/(Y \cap J)$, a subnormal composition factor of J above $H_1 (= H_\lambda)$. Replacing G by J , (7) follows.

Thus we have $G = \langle H_1, H_2, \dots, H_n \rangle$ with each H_i subnormal in G and X/Y is a subnormal composition factor of G with $H_1 \leq Y \triangleleft X \leq G$. It now suffices to prove the theorem in the case when

(8) *G is soluble.*

For, let $P_2 = P_{H_1}(H_1)$, the permutizer of H_1 in H_2 . Then $H_1 \cap H_2 \leq P_2$. Put $Q_2 = H_1 P_2$. By Lemma 2, P_2 is subnormal in G and therefore Q_2 is also subnormal in G , by Lemma 1. Thus there are subnormal series

$$\begin{aligned} H_1 &\triangleleft \dots \triangleleft Q_2 \triangleleft \dots \triangleleft G, \\ H_1 &\triangleleft \dots \triangleleft Y \triangleleft X \triangleleft \dots \triangleleft G. \end{aligned}$$

According to Schreier's Theorem, these series have isomorphic refinements and so we may assume that either

$$(9) \quad H_1 \triangleleft Y \triangleleft X \triangleleft Q_2$$

or

$$(10) \quad Q_2 \triangleleft Y \triangleleft X \triangleleft G.$$

It is very easy to see that $\Sigma(Q_2:H_1) = \Sigma(P_2:H_1 \cap P_2)$ and so in case (9)

$$X/Y \in \Sigma(P_2:H_1 \cap P_2) \subseteq \Sigma(H_2:H_1 \cap H_2),$$

as required. Therefore suppose that (10) holds. By Lemma 3 there is an integer $d_2 \geq 0$ such that $H_2^{(d_2)} \triangleleft P_2$. There is no loss of generality in taking $H_1 = Q_2$ and so we may assume that $H_2^{(d_2)} \triangleleft H_1$. Repeating this process with $H_3, \dots, H_n$ in turn replacing H_2 , we obtain

$$H_i^{(d_i)} \triangleleft H_1,$$

$2 \leq i \leq n$, for certain integers d_i . Now by Theorem 2 there is an integer d such that

$$G^{(d)} \triangleleft H_1 H_2^{(d_2)} \dots H_n^{(d_n)} \triangleleft H_1.$$

Let $N = G^{(d)}$. Since $H_1 \cap H_i N = (H_1 \cap H_i) N$ and

$$\Sigma(H_i N : (H_1 \cap H_i) N) \subseteq \Sigma(H_i : H_1 \cap H_i)$$

for all i , it follows that we may replace G by G/N , i.e. we may assume that G is soluble. We have therefore established (8).

It is now clear that $X/Y \cong Z_p$, a cyclic group of prime order p . The next step is to show that, in this situation,

$$(11) \quad \text{we may assume that } G \text{ is finitely generated.}$$

For choose $x \in X \setminus Y$. Then $x \in \langle K_1, K_2, \dots, K_n \rangle = M$, say, where K_i is a finitely generated subgroup of H_i , for each i . So M is finitely generated. Let

$$H_i^* = H_i \cap M.$$

Thus $H_i^* \geq K_i$, $M = \langle H_1^*, \dots, H_n^* \rangle$ and H_i^* is subnormal in M . Put $X_1 = X \cap M$, $Y_1 = Y \cap M$. Since $x \in X_1 \setminus Y_1$, we have

$$X_1/Y_1 \cong X_1 Y/Y = X/Y$$

and hence $Z_p \in \Sigma(M; H_1^*)$. If the Theorem holds for finitely generated groups, then

$$(12) \quad Z_p \in \Sigma(H_j^*; H_1^* \cap H_j^*)$$

for some $j \geq 2$. Let

$$H_1 \cap H_j = A_0 \triangleleft A_1 \triangleleft \dots \triangleleft A_m = H_j$$

be a series with all A_{i+1}/A_i abelian. Intersecting with M , we obtain

$$H_1^* \cap H_j^* = A_0 \cap M \triangleleft A_1 \cap M \triangleleft \dots \triangleleft A_m \cap M = H_j^*$$

and

$$(A_{i+1} \cap M)/(A_i \cap M) \cong (A_{i+1} \cap M)A_i/A_i \leq A_{i+1}/A_i.$$

By (12), $Z_p \in \Sigma((A_{i+1} \cap M)/(A_i \cap M))$, for some i , and so

$$Z_p \in \Sigma(A_{i+1}/A_i) \subseteq \Sigma(H_j; H_1 \cap H_j),$$

showing that the theorem will hold for all groups. Therefore (11) follows.

Now G is a finitely generated soluble group. Let

$$H_1 = B_0 \triangleleft B_1 \triangleleft \dots \triangleleft B_l = G$$

be a series with each factor B_{i+1}/B_i abelian. Choose i as large as possible such that B_{i+1}/B_i has Z_p as a subnormal composition factor. Then for all $j \geq i+1$, B_{j+1}/B_j must be periodic. Since G is finitely generated, induction over j decreasing shows that $|G:B_{i+1}|$ is finite and B_{i+1} is finitely generated. Therefore we may assume that $X = B_{i+1}$ and $Y = H_1$. Hence $|G:H_1|$ is finite. We have already seen (while proving (8)) that it is in order to replace G by G factored by any normal subgroup contained in H_1 . Thus we may assume that H_1 is core-free in G and so G is finite.

Finally, for $1 \leq i \leq n$, let $G_i = \langle H_1, H_2, \dots, H_i \rangle$. Since all the subgroups G_i are subnormal in G , Schreier's refinement theorem gives

$$X/Y \in \Sigma(G_{i+1}:G_i)$$

for some $i \geq 1$. Therefore by Wielandt's theorem ((3) above) applied to the finite group G_{i+1} generated by the subnormal subgroups H_{i+1} and G_i ,

$$X/Y \in \Sigma(H_{i+1}:G_i \cap H_{i+1}) \subseteq \Sigma(H_{i+1}:H_1 \cap H_{i+1})$$

as required.

This completes the proof of Theorem A.

3. The connection with residuals.

Let G be a finite group and let $\mathcal{S}$ be a set of abstract simple groups. By (5) there is a unique subnormal subgroup G^* of G minimal subject to

$$\Sigma(G:G^*) \subseteq \mathcal{S};$$

and clearly $G^* \triangleleft G$. Now suppose that G (still finite) is generated by subnormal subgroups $H_1, H_2, \dots, H_n$. Then

$$H_i/(H_i \cap G^*) \cong H_i G^*/G^*$$

and hence $\Sigma(H_i:H_i \cap G^*) \subseteq \mathcal{S}$. Therefore $H_i^* \leq H_i \cap G^*$ and so

$$\langle H_1^*, H_2^*, \dots, H_n^* \rangle \leq G^*.$$

Conversely let $\langle H_1^*, \dots, H_n^* \rangle \leq Y \triangleleft X$, where X is subnormal in G and X/Y is simple. Then $G = \langle H_1, \dots, H_n, Y \rangle$ and thus, by Theorem A,

$$\begin{aligned} (13) \quad X/Y &\in \bigcup_{i=1}^n \Sigma(H_i:H_i \cap Y), \\ &\subseteq \bigcup_{i=1}^n \Sigma(H_i:H_i^*) \subseteq \mathcal{S}. \end{aligned}$$

Hence $G^* \leq \langle H_1^*, \dots, H_n^* \rangle$. Consequently

$$(14) \quad G^* = \langle H_1^*, \dots, H_n^* \rangle.$$

This result is due to Wielandt ([5], Satz 2.4). Clearly by far the greater part of the argument lies in establishing (13), i.e. Theorem A. However, Theorem A does not require G or the number of generating subnormal subgroups to be finite, and so we can obtain, as our final result, what is essentially a generalisation of (14) to arbitrary groups:

THEOREM C. *Let G be generated by subnormal subgroups H_λ ($\lambda \in \Lambda$). If X/Y is a subnormal composition factor of G , then*

$$X/Y \in \bigcup_{\lambda} \Sigma(H_\lambda : H_\lambda \cap Y).$$

PROOF. Since $G = \langle Y, H_\lambda | \lambda \in \Lambda \rangle$, we may take H_λ in Theorem A to be Y here.

REFERENCES

- [1] D. J. S. ROBINSON, *Joins of subnormal subgroups*, Ill. J. Math., **9** (1965), pp. 144-168.
- [2] J. E. ROSEBLADE, *The derived series of a join of subnormal subgroups*, Math. Z., **117** (1970), pp. 57-69.
- [3] J. E. ROSEBLADE - S. E. STONEHEWER, *Subjunctive and locally coalescent classes of groups*, J. Algebra, **8** (1968), pp. 423-435.
- [4] H. WIELANDT, *Eine Verallgemeinerung der invarianten Untergruppen*, Math. Z., **45** (1939), pp. 209-244.
- [5] H. WIELANDT, *Vertauschbare nachinvariante Untergruppen*, Abh. Math. Sem. Univ. Hamburg, **24** (1957), pp. 55-62.
- [6] H. WIELANDT, *Topics in the theory of composite groups*, Lecture Notes, Madison, Wisconsin (1967).
- [7] H. ZASSENHAUS, *The theory of groups*, 2nd ed., New York, Chelsea (1958).

Manoscritto pervenuto in redazione il 30 maggio 1980.